
is 200 kNlm2 Use M 20 concrete and Fe 415 steel.
Solution:
Wall proportions.
Thickness of the stem of the top = 2OO rnm
Thickness of the stem at the bottom
Consider one ntetre run of the wall.
Maximum bending moment per metre run of the wall

Effective covdr to stem reinforcement = 40 rnm
Total thickness of stem= 261 + 40 = 3Ol mm
The thickness may be increased by 30% tb gSX for an economieal

design.

fuedide o thickness of 400 rnm at the bottorn ofbsAtgm.
the base slab also will be made 40O mmlhick)
Total height of the wall= I/ = 5 + 0.40 = 5.40 nt

"Width of the base slab
b =0.5 HtoO.6H

0.5 I/ = 0.5 x 5.4 = 2.70 m
0.6Il = 0.6 x 5.4 = 3.24 m

Prouide a base width of 3 m
Toe projection This may be made about one-third the base width.
Prouide atoe projection of I m
Stab ility colculations See table below for stability calculations.
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